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QUESTION 1

Which command is the most appropriate for troubleshooting a multiprotocol authentication problem? 

A. wcc 

B. rdfile /etc/rc 

C. priv set advanced 

D. sysstat 1 

Correct Answer: A 

 

QUESTION 2

To determine if a problem you are experiencing is known to NetApp, use the NOW site utility. 

A. System Configuration Guide 

B. Bugs Online 

C. Release Comparison 

D. Ethereal 

Correct Answer: B 

 

QUESTION 3

Which four steps should be taken when troubleshooting a "stale nfs file handle" response to a mount request?(Choose
4) 

A. Check the client\\'s fstab. 

B. Check for connectivity to the storage appliance from the client. 

C. Check show mount -e to the storage appliance from the client. 

D. Check the /etc/exports file on the storage appliance. 

E. Check the /etc/sd.conf file on the client. 

Correct Answer: ABCD 

 

QUESTION 4

Which two commands can be performed with the SnapDrive for Windows graphical user interface? (Choose 2.) 
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A. Create Disk 

B. Create VLD 

C. Connect Disk 

D. Convert VLD to LUN 

Correct Answer: AC 

 

QUESTION 5

The writeable snapshot that is created for a LUN clone depends on __________. 

A. mirroring. 

B. the snapshot taken at the time the clone was created. 

C. exclusive access to the volume. 

D. the data in the original LUN not changing. 

Correct Answer: B 
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